Pracovní list – Using numbers I

1. Write the answers to the following sums in words:


Example: Ten minus eight equals



 


a) Four plus ten equals    

b) Twenty five plus three, plus fourteen equals
c) Eleven minus six equals

d) Fifty three minus seventeen equals


e) Twenty plus four, minus ten equals


f) Eight multiplied by seven equals


g) Fifteen multiplied by four equals


h) Forty five divided by nine equals


i) Seventy divided by fourteen equals

j) One hundred and sixty divided by two equals


k) Eight multiplied by nine, plus twenty equals


l) Thirty minus seven, plus twelve equals

2. Write these examples in words:

 
Example: 7 + 8 = 15

Seven plus eight equals fifteen.
a) 18 + 3 =
_________________________________

b) 25 – 17 =
_________________________________

c) 84 : 12 =
_________________________________

d) 23 x 4 =
_________________________________

e) 12 + 3 x 2 =
________________________________

f) 2 + 6 x 4 =
________________________________

g) 64 : 8 =
________________________________

h) 102 – 17 =
________________________________

i) 96 : 16 =
________________________________

j) 12 + 5 – 4 = 
________________________________

k) 95 – 15 + 12 = _______________________________

l) 65 : 13 – 14 = _______________________________

m) 15 x 5 =
_______________________________

n) 56 + 8 – 9 =
_______________________________

o) 6 x 9 + 2 =
_______________________________

two.
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